Trial Exam 2 – Econ 201
Elasticity 
1. The basic formula for the price elasticity of demand coefficient is: 
A. absolute decline in quantity demanded/absolute increase in price.
B. percentage change in quantity demanded/percentage change in price.
C. absolute decline in price/absolute increase in quantity demanded.
D. percentage change in price/percentage change in quantity demanded.
2. The demand for a product is inelastic with respect to price if: 
A. consumers are largely unresponsive to a per unit price change.
B. the elasticity coefficient is greater than 1.
C. a drop in price is accompanied by a decrease in the quantity demanded.
D. a drop in price is accompanied by an increase in the quantity demanded.
3. If the price elasticity of demand for a product is 2.5, then a price cut from $2.00 to $1.80 will: 
A. increase the quantity demanded by about 2.5 percent.
B. decrease the quantity demanded by about 2.5 percent.
C. increase the quantity demanded by about 25 percent.
D. increase the quantity demanded by about 250 percent.
4. Suppose that as the price of Y falls from $2.00 to $1.90 the quantity of Y demanded increases from 110 to 118. Then the price elasticity of demand is: 
A. 4.00.
B. 2.09.
C. 1.37.
D. 3.94.
5. If a firm can sell 3,000 units of product A at $10 per unit and 5,000 at $8, then: 
A. the price elasticity of demand is 0.44.
B. A is a complementary good.
C. the price elasticity of demand is 2.25.
D. A is an inferior good.
6. Most demand curves are relatively elastic in the upper-left portion because the original price: 
A. and quantity from which the percentage changes in price and quantity are calculated are both large.
B. and quantity from which the percentage changes in price and quantity are calculated are both small.
C. from which the percentage price change is calculated is small and the original quantity from which the percentage change in quantity is calculated is large.
D. from which the percentage price change is calculated is large and the original quantity from which the percentage change in quantity is calculated is small.

7. The concept of price elasticity of demand measures: 
A. the slope of the demand curve.
B. the number of buyers in a market.
C. the extent to which the demand curve shifts as the result of a price decline.
D. the sensitivity of consumer purchases to price changes.
8. When the percentage change in price is greater than the resulting percentage change in quantity demanded: 
A. a decrease in price will increase total revenue.
B. demand may be either elastic or inelastic.
C. an increase in price will increase total revenue.
D. demand is elastic.
9. In which of the following instances will total revenue decline? 
A. price rises and supply is elastic
B. price falls and demand is elastic
C. price rises and demand is inelastic
D. price rises and demand is elastic
10. If a firm finds that it can sell $13,000 worth of a product when its price is $5 per unit and $11,000 worth of it when its price is $6, then: 
A. the demand for the product is elastic in the $6-$5 price range.
B. the demand for the product must have increased.
C. elasticity of demand is 0.74.
D. the demand for the product is inelastic in the $6-$5 price range.
 11. Suppose the price elasticity of demand for bread is 0.20. If the price of bread falls by 10 percent, the quantity demanded will increase by: 
A. 2 percent and total expenditures on bread will rise.
B. 2 percent and total expenditures on bread will fall.
C. 20 percent and total expenditures on bread will fall.
D. 20 percent and total expenditures on bread will rise.


 
   
 
12. Refer to the above diagram. If price falls from $10 to $2, total revenue: 
A. rises from A + B to A + B + D + C and demand is elastic.
B. falls from A + D to B + C and demand is inelastic.
C. rises from C + D to B + A and demand is elastic.
D. falls from A + B to B + C and demand is inelastic.
 
13. Refer to the above diagram and assume that price increases from $2 to $10. The coefficient of price elasticity of demand (midpoint formula) relating to this change in price is about: 
A. .25 and demand is inelastic.
B. 1.5 and demand is elastic.
C. 1 and demand is unit elastic.
D. .67 and demand is inelastic.
14. The narrower the definition of a product: 
A. the larger the number of substitutes and the greater the price elasticity of demand.
B. the smaller the number of substitutes and the greater the price elasticity of demand.
C. the larger the number of substitutes and the smaller the price elasticity of demand.
D. the smaller the number of substitutes and the smaller the price elasticity of demand.
15. The price elasticity of supply measures how: 
A. easily labor and capital can be substituted for one another in the production process.
B. responsive the quantity supplied of X is to changes in the price of X.
C. responsive the quantity supplied of Y is to changes in the price of X.
D. responsive quantity supplied is to a change in incomes.
 
16. The main determinant of elasticity of supply is the: 
A. number of close substitutes for the product available to consumers.
B. amount of time the producer has to adjust inputs in response to a price change.
C. urgency of consumer wants for the product.
D. number of uses for the product. 

Utility 
17. The utility of a specific product: 
A. Is determined by consumer income
B. Is determined by the price of the product
C. Varies from person to person using the product
D. Is constant from person to person using the product
18. Total utility is best defined by which of the following? 
A. The change in marginal utility multiplied by the price of a product
B. The maximum amount of satisfaction from consuming a product
C. The total satisfaction received from consuming a particular amount of a product
D. The additional satisfaction received from consuming one more unit of a product
19. Which of the following defines marginal utility? 
A. The change in total utility divided by the price of a product
B. The maximum amount of satisfaction from consuming a product
C. The total satisfaction received from consuming as much of the product that is available for consumption
D. The additional satisfaction received from consuming one more unit of a product
 20. Which best expresses the law of diminishing marginal utility? 
A. The more of a product is consumed, the smaller is the total utility from the product
B. The less of a product is consumed, the greater is the marginal utility of the product
C. The more of a product is consumed, the greater is the total utility from the product
D. The less of a product consumed, the smaller is marginal utility of the product

21. When diminishing marginal utility starts happening as a person consumes more and more of a given good: 
A. Total utility will diminish
B. Total utility will increase at a diminishing rate
C. Marginal utility will become negative
D. Total utility will become negative
22. Which situation is consistent with the law of diminishing marginal utility? 
A. The more pizza Henry eats, the more he enjoys an additional slice
B. The more pizza Henry eats, the less he enjoys an additional slice
C. Henry's marginal utility from eating pizza becomes positive after eating three slices
D. Henry's marginal utility from eating pizza reaches a maximum when total utility is zero
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23. Refer to the above table. What is the marginal utility of the fourth unit? 
A. 36
B. 44
C. 80
D. 116
 24. Refer to the above table. The addition of which unit has the greatest marginal utility? 
A. Fifth
B. Sixth
C. Seventh
D. Eighth
 
25. Refer to the above table. At what consumption level for this product does diminishing marginal utility set in? 
A. 4 units
B. 5 units
C. 6 units
D. 7 units
 26. If total utility is increasing, then marginal utility: 
A. Must be declining
B. Must be increasing
C. Must be increasing at an increasing rate
D. May either be increasing or decreasing, but it must be greater than zero

27. According to utility theory, when total utility reaches a maximum, then marginal utility is: 
A. Increasing
B. Decreasing
C. At a minimum
D. Equal to zero

28. A consumer's consumption of a third unit of a product per day would increase total utility, while the consumption of a fourth unit would reduce it. Which of the following statements is true? 
A. The product is an inferior good
B. A rational consumer would purchase the third unit
C. The consumer will switch expenditure to another product
D. The marginal utility of the product is zero somewhere between the third and fourth units

29. The downward slope of the demand curve for a product shows the implications of: 
A. Diminishing marginal utility
B. Diminishing marginal product
C. Increasing opportunity cost
D. Cost-benefit analysis

 Answer the next question(s) based on the table below showing the marginal utility schedules for product X and product Y for a hypothetical consumer. The price of product X is $4 and the price of product Y is $2. The income of the consumer is $20.
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30. Refer to the above table. If the consumer buys both product X and product Y, how much will the consumer buy of each to maximize utility? 
A. 4X and 2Y
B. 3X and 4Y
C. 4X and 3Y
D. 5X and 3Y
 
31. Refer to the above table. When the consumer purchases the utility-maximizing combination of product X and product Y, total utility will be: 
A. 72
B. 84
C. 136
D. 156
 
32. Refer to the above table. Suppose that the consumer's income increased from $20 to $30. What would be the utility-maximizing combination of products X and Y? 
A. 3X and 3Y
B. 4X and 4Y
C. 5X and 4Y
D. 5X and 5Y
 
33. Refer to the above table. Based on taste and preference alone, which good does the consumer prefer? 
A. The consumer prefers X over Y
B. The consumer prefers Y over X
C. The consumer equally likes X and Y
D. One cannot tell from the given data

34. Assume that a consumer purchases a combination of products Y and Z and that the MUy/Py= 25 and MUz/Pz = 25. To maximize utility, without spending more money, the consumer should: 
A. Purchase less of Y and more of Z
B. Purchase more of Y and less of Z
C. Purchase more of both Y and Z
D. Make no change in Y and Z

Costs of Production

35. In the short run, output: 
A. Is absolutely fixed
B. Can vary as the result of using a fixed amount of plant and equipment more or less intensively
C. May be altered by varying the size of plant and equipment which now exist in the industry
D. Can vary as the result of changing the size of existing plants and by new firms entering or leaving the industry
 36. The main difference between the short run and the long run is that: 
A. Firms earn zero profits in the long run
B. The long run always refers to a time period of one year or longer
C. In the short run, some inputs are fixed
D. In the long run, all inputs are fixed
37. In the short run: 
A. A firm cannot vary its output level
B. All factors of production can be varied
C. A firm can change its fixed inputs
D. Output is raised or reduced by changing the levels of variable inputs
 
38. The long run is a period of time, or a time-frame, in which: 
A. All resources are fixed
B. The level of output is fixed
C. The amount of all resources can be varied
D. The capacity of the production plant is fixed

39. Which is most likely to be a long-run adjustment for a firm that manufactures cars on an assembly line basis? 
A. An increase in the amount of steel that the firm buys
B. A decrease in the number of production managers in the assembly line
C. A change in production to a redesigned and retooled facility
D. An increase in the number of shifts of workers from two to three
 
40. Marginal product of labor refers to the: 
A. Last unit of output produced by labor at the end of each period
B. Increase in output resulting from employing one more labor
C. Total output divided by the number of labor employed
D. Smallest unit of the output produced by labor
 
41. According to the law of diminishing marginal returns: 
A. Output will fall and then rise as additional units of input are employed
B. Employing additional inputs will diminish total output
C. The additional output generated by additional units of an input will diminish
D. The additional inputs necessary to produce an additional unit of output will diminish

42. Diminishing marginal returns occurs as a firm adds more variable inputs to at least one fixed input because: 
A. The ability or quality of the variable inputs hired decreases as more are hired
B. The firm must lower the price of its product when it produces more units of output
C. The per unit cost it must pay for variable inputs increases as more inputs are hired
D. As more variable inputs are hired, the amount of the fixed input per variable input decreases
 
43. The law of diminishing returns in a manufacturing plant of a fixed capacity implies that, eventually, employing one: 
A. More worker will increase the average amount of output per worker
B. More worker will decrease the average amount of output per worker
C. Less worker will decrease the average amount of output per worker
D. Less worker will not affect the average amount of output per worker

44. Which statement best illustrates the law of diminishing returns? 
A. The average total cost of the last unit of output produced is less than the average total cost of the preceding unit of output
B. The marginal product of the last unit of a resource used is less than the marginal product of the preceding unit of resource
C. The average product of the last unit of a resource used is less than the average product of the preceding unit of resource
D. The marginal cost of the last unit of output produced is less than the marginal cost of the preceding unit of output
 45. The total product curve graphically shows the: 
A. Minimum level of output that can be produced by a quantity of a variable resource holding constant the quantity of other resources
B. Minimum level of output that can be produced by a quantity of a fixed resource letting other resources vary
C. Maximum level of output that can be produced by a quantity of a fixed resource letting other resources vary
D. Maximum level of output that can be produced by a quantity of a variable resource holding constant the quantity of other resource 

46. When the total product curve is falling, the: 
A. Marginal product of labor is zero
B. Marginal product of labor is negative
C. Average product of labor is increasing
D. Average product of labor must be negative

47. Over the range of positive, but diminishing, marginal returns for an input, the total product curve: 
A. Falls
B. Rises at a constant rate
C. Rises at a decreasing rate
D. Rises at an increasing rate

48. At what point does marginal product equal average product? 
A. Where average product is equal to its minimum value
B. Where average product is equal to its maximum value
C. Where marginal product is equal to its minimum value
D. Where marginal product is equal to its maximum value

49. At the point where diminishing marginal returns of an input sets in, the: 
A. Average product starts to decrease
B. Marginal product starts to decrease
C. Total product starts to decrease
D. Average product exceeds the marginal product
 
50. Marginal cost can be defined as the: 
A. Change in total fixed cost resulting from one more unit of production
B. Change in total variable cost resulting from one more unit of production
C. Change in average total cost resulting from one more unit of production
D. Change in average variable cost resulting from one more unit of production

51. When marginal cost is increasing: 
A. Total cost must be increasing
B. Average total cost must be increasing
C. Average total cost must be decreasing
D. Average fixed costs might be increasing or decreasing
 52. As output increases, average fixed costs: 
A. Increase
B. Decrease
C. Remain constant
D. First increase and then decrease

53. The law of diminishing returns explains why: 
A. Total cost eventually rises faster and faster
B. Total cost eventually falls
C. Total cost eventually rises more and more slowly
D. Total cost eventually reaches a maximum point

54. The range over which average variable cost is increasing is the same as the range over which: 
A. Marginal cost is decreasing
B. Average fixed cost is increasing
C. Average product is increasing
D. Average product is decreasing


   
 
55. Refer to the above table. The average total cost of producing 20 units of output is: 
A. $4.00
B. $4.50
C. $6.50
D. $8.50
 
56. Refer to the above table. The average variable cost of producing 35 units of output is: 
A. $6.00
B. $7.43
C. $4.57
D. $1.43
57. Refer to the above table. When output increases from 28 to 35 units, the marginal cost of the product is: 
A. $4.44
B. $5.71
C. $6.00
D. $6.67

 


Answer Key:
1. B
2. A
3. C
4. C
5. C
6. D
7. D
8. C
9. D
10. A
11. B
12. D
13. A
14. A
15. B
16. B
17. C
18. C
19. D
20. B
21. B
22. B
23. B
24. B
25. D
26. D
27. D
28. D
29. A
30. B
31. D
32. D
33. A
34. D
35. B
36. C
37. D
38. C
39. C
40. B
41. C
42. D
43. B
44. B
45. D
46. B
47. C
48. B
49. B
50. B
51. A
52. B
53. A
54. D
55. C
56. C
57. B
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